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* g ZREB % (PRBC) 140 mL 7,400 =
+ 5 3k (FFP) 120 mL 7,400 =
* g kB (PCO) 40 mL 14,000 ~
Bl AR 500 ~ /=%
B e izl 1000 =~

B B ¥ G

EL Ry CGLRERET) 800 =
w34 P 1 & 2,000 ~
R iR 2 (7 18@%) 2,000 =
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EAFETEALFEES P P R

JRISTE P (£
HEFCE) I (RAFHEHEEFT P &2 100 =~ /400 ~
KRELHELY 200 ~
LET 200 ~
KRELET 500 ~
S5y CHHER) 400 ~
E2 27 CHHERER) 800 ~
U SRS 200-300 =~
R T R R 200 ~
A R N 100 ~
A SER A 500 ~
Al S E e 4 500 ~
F Bk 1500 =~
— Apip r T 150-500 ~

oA 500-3000 = /=

0. 5kg ™ ] 500-1000 =

i 0.5-1kg 1000-2000 =
lkg 1 ¢ 2000-4000 =

B 3% B 300-600 =

Ht i 9-28




ER G L] 500 ~/& | p/= (. 5kg
RS0 TR Ok R 1500-2000 ~
0. 5kg 4 p 2000 ~/ 2 | p&
F R 0.5-1kg 3000 ~/& ] p*
kg 4000 ~/ 2 /]
EBGRRHH R /F 2% (FNA) 150-500 ~
B AR B B F (Punch) 1000-1500 ~
fe R R R (Trucut) 2000-3000 ~

T E-E

3000-12000 ~

# 5k

5000-15000 ~

e F A (HE - %)

3000-25000 ~

%k B E s v B 2 (E )

8000-15000 ~

SEBFHL (RS

5000-10000 =~

37 R

8000-15000 ~

/}J fL l‘E ¥ sty ",/Tf i

6000-20000 ~

— A g 1500-3000 ~
£ i kAL i

Efcx #4530 & 5P )

2000-3500 ~

gz B (A8 30 4 48)

4oz 3000-4000 =

it 9-29




¥ TR kL2

SR
A TSP 100 ~
L RN e 100 ~
SR 300-400 ~

F s R 3 - BEHRT BT

PAAEH T

WAECE S ATH A~ T R

1000-2000 ~ /=

500 ~/=x

SCI 4)500 ~ ~
M(C# 4800 ~

L+ # & & & #)1000 ~

ERER LS -PEY B

600-900 ~

(40 & * HoRERE ¥ M d)

100 ~/p

500-1000 ~/p

TR
ARt AL % 500 =/

% 5 2500-8000 =
LERD R A 500-800 =
PR (R gL L) o0 ~/p

800-1000 =

% 9-30



w4 ®IE 2 30%
L 7 2000-3000 ~ /5% i=
nF A (FE) 1500 ~
o F A (RE ) 2500 =~
AR, 1500 =
i+ PCR & iRl 1200 ~ /3
M| 500 ~/ &

% 9-31




	附9a1-獸醫教學醫院收費標準修正對照表
	附9b1-修正附設獸醫教學醫院收費標準

